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Abstract

In this study, we investigate the behavior of the estimated spectral density
function of stationary time series in the case of missing values, which are
generated by the second order Autoregressive (AR (2)) model, when the error
term for the AR(2) model has many of continuous distributions. The Classical
and Lomb periodograms used to study the behavior of the estimated spectral
density function by using the simulation.
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.Gam(0.5,1) gis aiy Uadd) aad (4o bl g 3ol s
N
3 e [P(W60) ]2 4ab 03955 con (e N=80 (155 Larie Al (p, A 5oLy 53 Auclliie o
Ul aad (i il o35l ¢35 Lanie Ao gall (p, Aad Bl Js Aucliia g A} p dad 33U 3
.Exp(0.5) &5 &
< P(We0) sP(W20) a2 s1P(Win) 5 P(W1) 4 Ao (o bl cpilall ava U5 Ll 5
of Jaasud
AR(2) zilai Jsly Usdl) aad 4 jidal) cilag gl J<1g Adal) ana 330 3 P(Wi) Aad 21258 o
cagd) b L yidall
GSJ.AA"!‘ Jas Gl B dun jidal) AR(2) Zilad < al) ada il P(W(N/Z)) iad oy e
.Exp(0.5) sU(0,1) sN(0,2) &is
N
Lad el gaa (8 A, pB JSg dindl aaa B3 3s P(W(N2) 4 31235 o

&y Uil and (g il 3l (1585 Lasis A gall 0 o Uy i) a3 S3L 50 P (W)
.Gam(0.5,1) s
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st ) i At B aie Sl Ay gali kil [P(W)JP SP(WK) a2 i (4-1) Joia
Ol madany N(0,2) (rabal) amjsil) amtly sldadd) o (45 Laade [ 2. /N, 72 ]5-380 (amin

Lo skl
(N=80 4iali aaa i 1) Lgta 33580 ad %20 Ay T=100 4iall aaa
wk | @=-8,p2=.1)| @1=-5,02=.4) | @1=.5,p2=.4) C@1=.8,2=.1)
Pwk) [[PWQ | P(wk) [PWQ* | Pwe) | [PW)]* | P(wx) [P(w)]?
W1 0.16966 0.58467 0.33927 0.22240 6.09170 85.1930 6.78500 107.120
Wi1o 0.10194 0.02050 0.13842 0.03895 0.49292 0.49207 0.75483 1.15690
W20 0.13492 0.03613 0.10567 0.02308 0.22638 0.10380 0.28273 0.15938
W30 0.37269 0.29001 0.28185 0.13021 0.25537 0.15031 0.20971 0.08291
Wa0 2.58030 21.8400 2.29140 17.8570 0.34350 0.33975 0.16325 0.07189
(N=120 4isli pan i (o) Lgda 3aghia asd %20 dpwizg T=150 ddall pan
we | @¢=—-8@2=.1) @1=-5,p2=.4) - @1=.5,02=.4) C@1=.8,p2=.1)
P(wk) | [P(Wx)]? P (wk) [P(w)]? P(wk) [P(w)]? P(wk) | [P(Ww)]?
W1 0.21263 0.07584 0.42059 0.30032 7.64920 115.750 7.93500 135.270
W10 0.09352 0.01736 0.15344 0.04929 0.92342 1.65930 1.37820 4.64950
W20 0.10729 0.02303 0.11472 0.02646 0.31530 0.20541 0.50888 0.50217
W30 0.12490 0.02920 0.10718 0.02567 0.21494 0.09217 0.28781 0.18155
W40 0.24299 0.11824 0.15928 0.05160 0.23324 0.11599 0.20213 0.07927
Wso 0.73759 1.18290 0.46863 0.43222 0.28590 0.16491 0.17822 0.06721
Weo 2.48640 19.5850 2.37200 16.0670 0.37117 0.41774 0.18608 0.10256
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Ganda g b)) S Alna aub 2o SondISh Ay gal) bdal [P(WK)]7 5 P(Wk) s O (4-2) st
(02 Gital) anays U(0,1) aliilall g sl ay sUaldl as 198y Laxie [ 277 /N, 77 ]5 5l

(N=80 4isl aan o g1) Lgda 3 ghka a8 %20 4wy s T=100 4isall aaa

C@1=-8,02=.1) | @1=-5,92=.4) - @1=.5,02=.4) - P1=.8,p2=.1)
Wk N N N N N N N N
P(wk) [P(wW)]? P(wk) [P(w)]? P(wk) [P(w)]? P(wk) [P(w)]?
W1 0.03379 0.00156 0.06803 0.00653 1.37470 3.61470 1.49600 5.05620
Wio 0.00676 0.00009 0.01014 0.00021 0.11308 0.02544 0.16606 0.05123
W20 0.00877 0.00015 0.00852 0.00014 0.04548 0.00384 0.05803 0.00655
W30 0.02290 0.00099 0.01863 0.00004 0.05362 0.00566 0.04484 0.00394
Wao 0.17413 0.09149 0.18121 0.10309 0.06825 0.01602 0.03641 0.00414
(N=120 4isli pan i g ) Lgia 32 00 a8 %20 dpwisg T=150 ddlalt pan
Wi C@1=—-8,02=.1) | @1=-5,92=.4) - @1=.5,02=.4) CP1=.8,p2=.1)
P(wk) [P(wW)]? P(wk) [P(w)]? P(wk) [P(wW)]? P(wk) [P(wW)]?
W1 0.04706 0.00278 0.09681 0.01201 1.84930 6.39450 2.17090 8.66220
W10 0.00663 0.00009 0.01191 0.00029 0.19173 0.07306 0.30569 0.19634
W20 0.00694 0.00008 0.00904 0.00016 0.06482 0.00834 0.10844 0.02229
Ws3o 0.00888 0.00016 0.00873 0.00016 0.04831 0.00451 0.06448 0.00786
Wao 0.01523 0.00045 0.01182 0.00026 0.04823 0.00469 0.04578 0.00404
Wso 0.04334 0.00374 0.03110 0.00201 0.06260 0.00807 0.04235 0.00352
Weo0 0.15813 0.07786 0.20166 0.13832 0.07970 0.01844 0.03915 0.00495
s 598 €l )5S Aa a2t Seudlsh) A gal) bl [P(Wi)]% 9 P(WK) e e (4-3) dsan
ol Guitel) eaaag Gam(0.5,1) WS & st auls sUadl) aa 98 Laaie [ 2 7 /N, 77 ] 8 A4
(N=80 4iali pan (i (g1) Lgda 5 ghla a8 %20 Axudsy T=100 Alall paa
Wk | @1=-8,p2=.1) | @1=-5,p2=.4) - @1=.5,02=.4) - P1=.8,p2=.1)
P(wk) [P(wW)]? P(wk) [P(wW)]? P(wk) [P(w)]? P(wk) [P(w)]?
Wi 0.01264 0.00026 0.02521 0.00104 0.50987 0.53001 0.57033 0.65913
Wio 0.00492 0.00005 0.00705 0.00010 0.03710 0.00245 0.06523 0.00787
W20 0.00656 0.00009 0.00573 0.00007 0.01729 0.00058 0.02261 0.00098
Wso 0.01663 0.00054 0.01163 0.00264 0.01960 0.00071 0.01585 0.00047
W40 0.10972 0.03290 0.11414 0.03805 0.02618 0.00226 0.01394 0.00057
(N=120 Al san o o ) e 34 ghia b 9520 Aesdsy T=150 Admll paa
wie | @1==8¢2=.1) [  @¢1=-5,p2=.4) - @1=.5,02=.4) C@1=.8,¢p2=.1)
P(wk) [P(w)]? P(wk) [P(w)]? P(wk) [P(wW)]? P(wk) [P(wW)]?
Wi 0.01673 0.00044 0.03240 0.00170 0.60268 0.73639 0.62910 0.77076
Wio 0.00454 0.00004 0.00757 0.00011 0.06714 0.00899 0.10836 0.02338
W20 0.00532 0.00006 0.00543 0.00006 0.02498 0.00121 0.03933 0.00295
W30 0.00681 0.00009 0.00578 0.00006 0.01671 0.00051 0.02381 0.00104
W40 0.01252 0.00032 0.00822 0.00013 0.01665 0.00056 0.01590 0.00049
W50 0.03560 0.00247 0.02364 0.00116 0.02324 0.00109 0.01510 0.00478
We0 0.12664 0.04818 0.11909 0.04621 0.02241 0.00016 0.01293 0.00468




260

‘,:;..1\AR(2)é,i%;ju\h,ﬁ\mu;_af,x\m;,\m\g

Ganda g i) S Al apb 2o ISt A ) gal) b3 WI[P(WK)]% 5 P(Wk) asd s (4-4) doia
oAl Guitel) eaang EXP(0.5) ¥t sl o sUadd) as 9% Ladie o[ 2 7t /N, 7t ]3340

(N=80 4isli aan o (51) Lgta Baghla a8 %20 4wy s T=100 4isall aaa
we | L @1==8,p2=.1) |  @1=-.5,02=.4) - P1=.5,02=.4) C@1=.8,¢p2=.1)
P(wk) [P(w)]? P (wk) [P(w)]? P(wk) [P(w)]? P(wk) [P(wW)]?
W1 0.02012 0.00058 0.03943 0.00236 0.85821 1.57730 0.96864 1.87480
W10 0.00548 0.00006 0.00803 0.00013 0.06366 0.00814 0.10106 0.01869
W20 0.00723 0.00010 0.00679 0.00009 0.02834 0.00160 0.03371 0.00207
W30 0.01849 0.00870 0.01413 0.00042 0.03104 0.00215 0.02483 0.00122
W40 0.13779 0.06614 0.12240 0.04488 0.04098 0.00495 0.02228 0.00160
(N=120 Ziali pas o ) ) Lba Baghla b %20 Loiyg T=150 Aiadt a2
we | @1=-8,2=.1) | @1=-5,92=.4) - @1=.5,02=.4) C@1=.8,p2=.1)
P(wk) [P(wW)]? P(wk) [P(wW)]? P(wk) [P(wW)]? P(wk) [P(wW)]?
W1 0.02814 0.00106 0.05568 0.00426 1.09470 2.28360 1.29190 3.32720
W10 0.00527 0.00006 0.00885 0.00015 0.12045 0.02801 0.17897 0.06812
W20 0.00572 0.00007 0.00680 0.00009 0.03773 0.00288 0.06052 0.00711
W30 0.00796 0.00014 0.00659 0.00008 0.02599 0.00130 0.03897 0.00288
Wao 0.01286 0.00032 0.00929 0.00016 0.02655 0.00143 0.02595 0.00136
W50 0.03600 0.00260 0.02475 0.00117 0.03646 0.00260 0.02226 0.00104
Weo 0.13231 0.04806 0.12703 0.05798 0.04505 0.00582 0.02669 0.00198

((19) 4zl (3 g Lowiaal sw (Average of [ P(Wk) ]) asd amsands P (W) asd Jau s Lal 6
Boall 3d g Al s w ( Average of [ P(WK) ]7) s aasls [ P(WK) ]? o ot sias

geaals[ P(WK) ]2 a3 £ 3ana slas) D& (00 Asuinall(SSE) Usill) cilay a £ 3ana dahy <(20)
0S5 gl Badid ((5-4) (A)(5-1) Jghaadl 8 Asall g <(18) ddmal) (389 A Aducall g W o
Liall aaa 055 Larie A gall (), A Bl Bl a9 Adladl (0, A Bl 3y Ailiia o
5Gam(0.5,1) sN(0,2) a5 ais Usdll aad (i idall g 35 (53 Lanie«N=80,120
.Exp(0.5)
aal (a lal) o sl ¢ 5% LariecN=80,120 4ial) aaa (15% Larie 0, dad 5l 30l Jia @
LU(0,1) s s ey

iy (Average of [ P(Wk) ]) d—a —to (i —iball ¢p—inll —aya iS4l 7

Ll Aale 5y gumy g B ((5-4) Y (5-1) Jslaad) b Aall ( Average of [ |3(Wk) 19)
Sl g Aal) aaa Bl A3 cpa 8 ALl peB JSlg Al aaa Bl BT e
.EXp(0.5) sN(0,2) g3 g Uil and (2 il g gill (55855 Lati o gall @, o
Jdo¥ Zigalll dae Gadl b da flal) AR(2) gilad Julg, ad Jly lnll pan Salhp A e
s aet Uadl) and (a yiiall a5l s baaie < (@, =-0.8, @, =0.1) ¢ Lasic

.U(0,1)
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AR(2) gl J<iyp, pad Jsly Adall ana S 30 (Average Of [ P(Wi) ] ) 4a ala3s o
daF s Bo(@,=-0.5,0,=0.4) g Laie A zdgall) e ) B dia fidall

OsSs lariec AR(2) gilal Jsly Lial) aaa 333 (Average of [ P(Wk) 1°) dad
.Gam(0.5,1) s aotis Uadl) and (yn idal) o 55300
o Al il AR(2) el Js1g Adiad) ana ol 3 31435 (SSE) Uil cilay 4 £ gana 4 o) .8

Lhadl st A dall clay 343l JS1g caadly

Casda 98 i ) S ISt Ay galh abadal SSE 3 5[P(Wi)]% 9 P(Wi) md Jagia ¢ (5-1) Joaa

ol Gpiial) (paaan g N(0,2) rrndl) g o) gy sladl) aa 09 Larie [ 2 7t /N, 7t ] 5 540

T propesed val 0= 892=1)| o-—50:-4)] 9=50:=.4)] ¢p1=8,9:-1)
N=80 ‘ |

- 0.44515 0.38000 0.71210 0.85901
Average of P (wi) 1.47790 1.12130 412130 5.75850
Average of [Pw)]? 59.1170 44.8501 164.853 230.347
SSE
The proposed value @1=—8,p2=.1)| @1=-5,2=.4)|  ¢1=.5,¢2=.4) | ¢1=.8,92=.1)
(N=120) ‘ |

2 0.43322 0.37642 0.73931 0.89662
Average of P(wi) 1.26160 1.01310 4.45950 6.35430
Average of [Pw)]? 75.6960 60.7880 267.570 381.260
SSE

Cramida o 98 ol ) ST SISl Ay gal) ool SSE 9 [P(W)]? 8 P(Wi) pd Jas g (s (5-2) Jga
Lo al ¢pital) aaag U(0,1) aliiiall el gy pUadl) aa 098 Latie o[ 277 /N, 77 ]5 530

;rheB%goposed value ¢1=-—8,p2=.1) | Q1=-5,02=.4) C¢1=.5,02=4) ¢1=.8,02=.1)
N= ‘ |

- 0.02949 0.03038 0.15389 0.18750
Average of P(wi) 0.00582 0.00605 0.17855 0.27130
Average of [Pw)]? 0.23269 0.24189 7.14200 10.8522
SSE
The proposed value ¢1=-8,p2=.1) | (P1=—.5,(P2=.4) C@e1=.5,02=.4) | (p1=.8,(p2=.1]
(N=120) ‘ |

2 0.02923 0.03058 0.16523 0.20478
Average of P(wi) 0.00547 0.00652 0.24014 0.35125
Average of [Pw)]? 0.32819 0.39096 14.4080 21.0750
SSE

oW O [P(WK)]P o g saaa Jias (SSE) slaill cilay sa g gana of 3
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G ) 9d i ) il Sl A ) gal) abadal SSE 9 [P(WK)]? 9 P(Wi) md dugia ¢ (5-3) dgaa
oAkl Gital) eaaas Gam(0.5,1) WS ajs8 aals sUadll aa (58 Ladie [ 2 7 /N, 7r ] 3 A8

;rhe pr)oposed value @1=—8,p2=.1)| @1=-5,02=.4)|  ¢1=.5,02=.4) | ¢1=.8,92=.1)
N=80 ‘ |

2 0.02167 0.01958 0.05523 0.06795
Average of P(wi) 0.00305 0.00253 0.02436 0.03576
Average of [Pwi]? 0.12183 0.10115 0.97451 1.43030
SSE
The proposed value @1=—8,p2=.1)| @1=-5,02=.4)|  ¢1=.5,¢2=.4) | ¢1=.8,92=.1)
(N=120) ‘ |

- 0.02175 0.01941 0.05652 0.06881
Average of P(wi) 0.00321 0.00266 0.02741 0.03593
Average of [P(ww)]? 0.19260 0.15967 1.64460 2.15590
SSE

O 3 9d ol 51 S L SadISh Ay gall adadal SSE 5 [P(Wi)]% 5 P(Wi) pd Jasa gia ¢ (5-4) s
oAl Guitel) eaaag EXP(0.5) ¥ gesih auy sUadl) aa 98 Laaiee [ 2 7 /N, 7r ]38

T Braposed Vel @=—8¢:=1)] 0——50:-4)] ¢-59:-4)] ¢1=.8,¢2-.1)
- 0.02424 0.02256 0.09151 0.11140
Average of P(wi) 0.00419 0.00318 0.06904 0.09610
Average of [Pw)]? 0.16763 0.12738 2.76170 3.84410
SSE
The proposed value @1=—8,92=.1)| ¢1=-5,2=.4)| ¢1=.5,02=.4) | ¢1=.8,92=.1)
(N=120) ‘ |
2 0.02329 0.02202 0.09762 0.11824
Average of P(wi) 0.00340 0.00318 0.08443 0.12014
Average of [P(wi)]? 0.20411 0.19071 5.06590 7.20820
SSE

4 adadie @ pada o AR(2) Zisal Uil ant L sdal) 4odiaial) Al 80 4 jal g

et Coan L Clalaay ¥l g LalS g runlall a5 gl Lgda Cilay 3 65 B0 (2l ) 3 08 (DI
o Al gcladd) aad (¥ g LalS g randall g 6l1) doda yihal) cilag § i) JSI (g gluadia (il g Jau gia
Al Ala 8 SISt A ) pal) Jadadial o jlail) Ll AT a5 088 N=80 ¢ 9<3 Laaie (3)J gl
¢(6-2)5 (6-1)clghaad) S g (5-4) 5 (4-4) Csl gl o do¥ & Jad) (o8 lail) 45 g a8 geBa ghdall

ﬁJ Aaie) e b c[ P(W]_) ]ZJP(W]_) ﬁJ u_b Ja—aie i g <N=80 :\_'\'.,M‘ eA.AJJ

Jaw giall CAMAA s gi aﬁl em Ll dffilas @lﬂl u.b Jyardl Al 288 [P(W(N/Z))]ZJP(W(N/Z))
LS adiiad) Jghaadl A e LS g AR(2) zisad¥ Uadd) aad i jidal) cilay jgill o] g
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((19) Gl (345 Lmaciaali w (Average of [ P(Wk) ]) asd asaads P(Wk) acd o sia Lol
«(20) sl (3 5 Lunciaali sw ( Average of [ P(Wk) ]?) asb asands[ P(Wk) ]2 s Ja sia 5

W b asaads[ P(Wk) ]2 b £ saa dla) A ¢a Auiaali(SSE) L) il ja £ gana dadd g
Lasie aul) el ¢y Lgia Badlid ¢ (6-2) 4 (5-4) Culgtadl B Aluall g ¢(18) ddueall (389 A Adually
Lo jS3 aniall ayBl) iy 45 480 s8] (9SS IN(.5,.25) 0068 aoit Uil asd (da yidall ao 56 5%
.Gam(1,0.5) sEXP(0.5) g Unilf aad ¢yuia jidall cpm 53 )85 Lakic

AR Al A cdiad) & L hiad) AR(2) gilal JSUg Al 3 ) g g 0 S0 addl Lan gl
sl :\Jhgiu'aJﬁ.d\ Canal Sty (Uil aat 4l fdal) cilag § gill cpliill g Jan gial) Aol Xt
g iy g Ldlaad) @ aud pand g Aalad) 58 <l ) pS3 2 23 F[P(WK)]* 5P (Wk) as Gy 3 siiall
Helalad dda (el Giang g A el g A o sile Fada (R4 )68 Cil gl S5 Jilla adll) Sl s
e JG Jhadkdon sall (0, sl asand g Aadiiall 5 )6 <l ) <5 20 [P(WK)]2 5 P(WK) s 21433
(3-a,b,c,d)s (2-a,b,c,d)s (1-a,b,c,d) Auibad) JUaN B Jhall Jaom Ao ) g ) (g 5ila
Galadl A
Ol e ol ) S Alaa pf alie UK A gal) hdbdd [P(W)]% sP(Wk) ad O (6-1) Jsaa
. (N=80 4iall aaa Of (g1) Lgha 33 588a 28 %20 4l sT=100 4endl ana (9% Lexisc [ 270 /N, 7v ]34

N(0.5,0.25) (anhlt ajsill gy sladli da 68 Lasis

C@1=—8,02=.1) | @1=-5,p2=.4) - @1=.5,02=.4) C@1=.8,¢p2=.1)
Wk n n ) n n ) n n ) n n )
P (wi) [P(wi)] P (wi) [P(w)] P (wi) [P(wi)] P (wi) [P(wi)]
W1 0.02244 0.00093 0.04986 0.00489 0.82231 1.39550 0.96631 2.05180
W10 0.01430 0.00041 0.01710 0.00056 0.07276 0.01042 0.11349 0.02761
W20 0.01798 0.00068 0.01333 0.00035 0.03107 0.00189 0.04148 0.00351
W30 0.04719 0.00414 0.03104 0.00196 0.03741 0.00278 0.02683 0.00143
Wao 0.31015 0.32011 0.30322 0.28563 0.04948 0.00697 0.02698 0.00227
Gam (1,0.5) LS a8 g slhaddl aa (9% Larie
C@1=—8,02=.1) | @1=-5,02=.4) - @1=.5,02=.4) C@1=.8,¢p2=.1)
Wk P (wi) [P(wW)]? P (wi) [P(w)]? P(wx) [P(w)]? P (wi) [P(w)]?
W1 0.01936 0.00053 0.04167 0.00258 0.75433 1.06410 0.93446 1.74980
W10 0.00593 7.0020e° 0.00787 0.00012 0.06363 0.00820 0.09672 0.01765
W20 0.00755 0.00011 0.00616 7.6566¢e° 0.02719 0.00138 0.03688 0.00266
Wso 0.01979 0.00078 0.01434 0.00043 0.02992 0.00174 0.02680 0.00132
W40 0.11384 0.03945 0.15204 0.06583 0.04193 0.00460 0.02369 0.00159
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8 Al el gy g il ) S SISl Ay gal) abial SSE 5 [P(Wi)]* 9P (W) pd bwgia Gaw (6-2) doia
. (N=80 4lali paa ) g1 ) Lgda Baghla o %20 dpudig T=100 4lall paa s i [ 27 /N, 7]

N(0.5,0.25) (mhll gjsill gy sthadll 2 5% Lasic
The proposed value ' - ; -
| p1=-8,92=.1)| ¢1=-5,02=.4)| ¢1=.5,02=.4)| ¢1=.8,02=.1)
2 0.05800 0.04897 0.10103 0.12575
Average of P (wi) 0.02403 0.01688 0.07257 0.11670
Average of [Pwi)]? 0.96116 0.67535 2.90300 4.66800
SSE
Gam (1,0.5) LalS a1 g iy slhaddl aa (oS Ladie
Theproposedvalue 1 g1=—8,92=.1)| @1=-502=.4)| ¢1=.5,2=.4)| ¢1=.8,¢2=.1)
- 0.02346 0.02324 0.08937 0.11289
Average of P(wi) 0.00358 0.00366 0.05855 0.09715
Average of [Pw)]? 0.14301 0.14623 2.34190 3.88600

SSE

A} A (A (8-4) Al (7-1) dstaadl (& A gaall @il (e 1L omb 4 gall Jakida il 14,3
ABUY) Aol i) g o gial) axd o alaieWlyg (Uadl) aat L idall e § il (il g Jacw glall dad

O,)—"L'\;HJ\ L}—AQAJJ[ P(W]_) ]ZJP(W]_)A_'G @‘(W]_:Zn/ N)JJYU\JJ'.U\ ' SJAJAS\ a—)ﬁ,jﬂ‘

P(W(N/Z)) ﬁJ e} (el Sab 6(N:80,120) S"J—ﬁ"‘ ?.'.‘J =9 EEREN H U.AJ_“‘M‘
Fiad Al (W) =7 ) YIS e ) [P(Winm)]? s (P (We0) 5 P(Wa0) ciadil) 1)
: L a3 3 o [P(Wao )T? s [P(Weo )]? ¢l

ey 53 €1y «(N=80,120) o yikal) ¢piiad) anad g, Aadd B2y 3o Byl 5a P (W) 4ad 0551
(Exp(0.5) sGam(0.5,1) sU(0,1) sN(0,2)) Uadll aat dia il

QusE P(Wini)) 511 sl x5 paial) Lddall A30<Y Lja Lad Lal 2
O (AN=80 ¢St Larie L pall ) A Bl 3s Byl Jia g Ldlall (p, A 3ol 3y Lucliia @
ol W) aad (i jilall 56l ()90 Lasie (N=120 (19S5 Lasie (p, Ladd 3ol 5y Audllila ¢y 4SS
.N(0,2) g3
Adbliia g Adlaal) p, Aadd By jo By Jia (909 ¢ N=80 (55 Ladie (p, Aad B3 3p 32 Fia o
oty Ladl) aat (i yilal) 2 56 @50 Larie (N=120055 Larie A gall p, Aadd B2l 3
LU(0,1) aisi
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o2 N=80 aa 55 Lanie o pall () Aa By 32 Byl Fla g Alll) , A By 3y Ausiliia
Q=S Laaie A gl (p, A By Jy Auabliia g Al (p, Aad By 3 B Fla (193 (i
.Gam(0.5,1) g5 oty Unk) aad (a jidall a3 6 oS LaiscN=120

B.N=80 aaa (1585 Larie Lo gall (0, Aad By B Fa g dallaal) p, Aa Bl y dnsiiliia
Uad) aad (i sidal) a3 sill )90 LasieN=120 ¢S Ladie o, dadd 33l 5y duallitia 055 Cpn
.EXp(0.5) misd) g

Lasie (p, Aah By 3o Bl ia 0 ss38( [ P (W) 1% )1 1Sl aie Lddal) A3G<Y Lfa ¢l da L) 3
U(0,1) sN(0,2) gz isil) Ll & a4 s fibal) a5 <1 N=80,120 (19—
(Exp(0.5) s Gam(0.5,1) s

« N=80,120¢;55 Lasie | P(W(N,z))]zﬁsﬁbbsﬂ\ Ao 5 jaial) duddalf A8VSY A0 ol dad Lal 4

o ¢ N=80¢is< Lanie 4 gall (p, Aadd 3305 3 B Fia g Adlad] (p, Aad By 3o AucdBliia ¢y 4<0

e Lk ] il 580 55 L (p, B Bl i [P(W0) 2 01565 o
.Gam(0.5,1) sN(0,2) gis

G (B ¢ N=800s<i Lanie Lo gall (0, A B3l 33 Bl i g Adlaall (, Aa Bl 3y Aucdiliia
Y«

G (B ¢ N=B00 s Lanie L gall 0, A 3ol 33 B Fha g Adlaal) (p, A By 5y Aucliia
1555 Lot Ay, o By el A, A ks 5 3a[P(W0) ]2 155
CU(0,1) i) aot Undd) and (i jidal) a5 63

L) aad (i dal) g sl (9% Lasie g N=125 N=80 (155 Ladie (p, Aad 3aby jy dusliia
.Exp(0.5) a5l g

N N
Aba Bad P(Wn)) sP(W1)4ad o (a sidall ciiiall ana p80 L S

Js1y N=120 055 Laade P(W1) dadhy 45 jia 58) N=80 553 Laais P(W1) 4 (155
L) 8 Al i) AR(2) zitad Jslp Uadd) aa cilay 68

Lhil) aa cilay ) 5 Jiy AR(2) gilad Sy P(We0) Aoy 4 ja 81 P(W40) a6
Lad) 8 L da)
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Gada ypgd @l ) )SU A Saa a8 atie] omb Ay gl adadad [P(WK)]% s P(WK) a® e (7-1) o2
oAl Cpital) (raaaag N(0,2) rndl) g ol gy sUadl) aa 09 Laris [ 2 7t /N, 7t ] 5 540

(N=80 4isll aan o g1) Lgda 3 ghka a8 %20 4wy s T=100 4isali pan

we | @1=-8,2=.1) | @1=-5,92=.4) - P1=.5,02=.4) C@1=.8,¢p2=.1)
PwW | [PwWO? | PWW | [Pw)? | Pwe | [PwW]? | PWe | [PwWW)]?
W1 0.00384 0.00003 0.00804 0.00012 0.14439 0.04560 0.15452 0.05097
Wi | 0.00224 0.00001 0.00346 0.00002 0.01173 0.00028 0.01859 0.00063
W20 | 0.00337 0.00002 0.00265 0.00001 0.00546 0.00006 0.00799 0.00013
Wso | 0.01023 0.00022 0.00628 0.00008 0.00665 0.00008 0.00488 0.00004
Wi | 0.04388 0.00504 0.03855 0.00420 0.01584 0.00061 0.01610 0.00072
(N=120 4islt pas o g1) Lgia B2 ghla ah %20 dpulsy T=150 diall ana
we | @1==-8,02=.1) |  @1=-5,2=.4) - @1=.5,02=.4) C@1=.8,¢p2=.1)
Pww) | [PwWO)? | PWwe | [Pw? | Pwe | [Pw]? | PWe | [PwW)]?
W1 0.00332 1.8094¢™® 0.00590 5.7821e™ 0.10962 0.02340 0.12219 0.02858
Wi | 0.00156 4.8596e° 0.00241 1.1496¢ 0.01595 0.00052 0.02512 0.00129
W20 | 0.00179 6.405 e® 0.00202 8.5231e® 0.00544 5.6616e” 0.00898 0.00016
Wso | 0.00209 8.1633¢® 0.00176 6.2862¢° 0.00347 2.3810e” 0.00482 4.8995¢°
Wao | 0.00405 3.2863e® 0.00286 1.5896e° 0.00353 2.5080e® 0.00359 2.3993e®
Wso | 0.01230 0.00033 0.00732 0.00010 0.00521 5.5200e® 0.00309 1.9228¢®
Weo | 0.03447 0.00276 0.03148 0.00207 0.00868 0.00017 0.00750 0.00015
Gamia 98 @l ) Sl A tma a8 3o | omb Aol addad [P(W)]% 5 P(Wk) ad i (7-2) dosa
oAl Gitel) eangg U(0,1) ailal) aojeill ady sUsdl as (9% Ladis [ 2 77 /N, 7r ]840
(N=80 4iall aan o (o)) Lgia B ghla aid %20 daedsg T=100 ddsll aas
we | @1==-8,p2=.1) |  @1=-5,02=.4) - P1=.5,02=.4) C@1=.8,¢p2=.1)
P(wx) [P(w)]? P(wx) [P(WK)]? P(wk) [P(w¥)]? P(wk) [P(w¥)]?
W1 0.00075 7.6489¢" |  0.00155 3.3712¢° | 0.03288 0.00207 0.04049 0.00326
Wio | 0.00017 5.4347¢* 0.00025 1.3122¢” 0.00283 1.5886e° 0.00432 3.5959¢°
W20 | 0.00022 9.2105e® 0.00021 9.0969¢® 0.00114 2.437¢° 0.00146 3.8911¢e®
W30 | 0.00060 7.4290¢”’ 0.00047 4.0601¢e” 0.00135 3.6233¢ 0.00107 2.1985¢°
Wao | 0.00280 2.5200e® 0.00295 2.2206e° 0.00327 2.5310e° 0.00334 3.1959¢°
(N=120 4isll aas o (o) Lgta B2 ghia aid %20 Apuiyy T=150 Adall aaa
we | @1=—-8,2=.1) | @1=-5,92=.4) - @1=.5,02=.4) C@1=.8,¢p2=.1)
Pw | [PwW? | PWW | [Pw]? | PWe | [PwW]? | PWe) | [PwW)]?
W1 0.00071 6.1641e”’ 0.00146 2.7145¢° 0.03091 0.00169 0.03150 0.00188
Wio | 0.00011 2.3334e® 0.00021 8.0996¢® 0.00323 2.2067¢° 0.00501 4.8416¢°
W20 | 0.00012 2.6613e® 0.00015 4.3569¢® 0.00116 2.5853¢® 0.00177 6.0690e®
W30 | 0.00016 5.0769¢® 0.00013 3.5670e® 0.00084 1.3518¢® 0.00103 2.1633e®
Wao | 0.00025 1.1637¢” 0.00020 7.9239¢® 0.00080 1.2670e® 0.00076 1.0809¢™®
Wso | 0.00074 1.1039¢™® 0.00058 6.8942¢”7 0.00106 2.2126e® 0.00067 8.3753¢”
Weo |  0.00236 1.1403e® 0.00249 1.2872e® 0.00225 1.0295¢° 0.00161 5.9774¢®
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38N ey b @l ) S0 Alna aib ie | omb duugdl il [P(Wi)]% 5 P(Wk) s G (7-3) dgaa
@ Aall (i) g9 Gam(0.5,1) LilS gjsd ails sladll aa (98 Lie [ 271 /N, 7t ]

(N=80 4isl aan o g1) Lgda 3 ghka a8 %20 4wy s T=100 4isall aaa

' ' = =. 1
Wk | p1=—8,92=.1) |  @1=-5,902=.4) . 91=.5,02=.4) . P1=.8,9 )2
. B - 4 . . 2
Pwe) | [Pl | P | [P | P | [Pl | P(wy) [(F)’gvovog
7 0.00027 | 0.01364 .
00029 | 1.3631e” [ 0.00055 | 5.0155¢"| 0.01103 s | 000163 | 4.9085¢°
Wi 0. -8 0.00016 5.2954¢® 0.00088 1.6861¢ 7
W | Soore | 2ETe, 00015 | 43173¢° | 0.00046 | 440387 | 0.00057 6.2386¢
Weo | 000047 | 4sms6e’ | 000029 | to10e” | 000047 | 4seese” | 000040 3.0564¢
W | 0ooger | gasade 8'88233 8.1852¢° | 0.00114 | 29502¢° | 0.00121 | 3.7713¢
00201 | 9.6996¢ : : T gy T
B (N=120 Al poa of ) Lgta 32 8ba b %20 dpiys T=150 Al pan
' ' = =. 1
, -] o=-—50-4) [ ¢=-5¢-4) [ ¢-8¢-.1)
Wl @=-8,:=1) | @=-5 ' = | PWY | [PwT
P(w«) [P(Wi)]? P(wk) [P(wWi)]? P(wi) [P(wi)] e
7 0.00019 [ 0.01023 00019
| 000024 81870 | 0.00049 Ta0s0e® | 000121 | 30108° | 0.00182 6.2853¢°
Wo | 7.8035 s | oabires 1.7585¢° | 0.00042 | 362897 | 0.00064 8.0158¢"
Wao | 8.8563¢” | 171447 | 9.2617¢” | 1. 747¢® | 0.00028 | 166537 | 0.00040 | 2.9767¢ !
Wso 0.00011 2'36526:8 9.8978¢ é'gsggz-B 0.00029 1.6491¢” 0.00028 l.421le:7
wee | oot 8'43236-7 3333§2 264217 | 0.00037 | 2.6612¢7 | 0.00026 %‘féiée-?
Wso | 0.00056 6.7233e . ' 5 ’ 9.3861e” 0.00058 4320e
Weo | 0.00162 | 6.1982¢° | 0.00168 | 5.9486e 0.00070
3 il e Jj i st e e_‘j ugLomb;\_U\gﬁ‘ Jahial [P(Wk)]ZJ P(Wk) pd Oy (7'4) dssa
3 8l i ) T - .ﬂ‘&m;w\hg\gﬁ“u&‘[Zﬂ/N,n]
o2 Akl Cpitall aaan g EXP(0.5) ¥t 2 ] —
(N=80 Akadi aas o 1) Lgda B3 giha asd %20 Auauiyy T=100 A g2 YT
. ¢1=-8,02=.1) |  @1=-5,92=4) |  ¢=.50=.4) | <P1)—- ’<P2—-)]2
Wk - — - 2 P Wk P Wk 2 P(Wk [P(Wk
PWe | [PWF | PWW | [Pwi)] W9 | [Pww]
7 1876e° [ 0.01967 | 0.00074 [ 002445 [ 0.00120
00047 | 3.1323¢7 | 0.00093 | 1.1876e : o | 000244 | L1711e
Wi 0. -8 0.00022 9.3463¢® 0.00151 4.4172¢ -6
W10 0.00015 4.227663_8 . o 4.8891e'8 0.00071 1.0183¢™ 0.00089 ]__54759_7
W20 0.00019 7.198 e_7 0.000 2.8041e’7 0.00083 130156 0.00068 9_0242@_6
Woo | 0.00051 | 5.0115€7 g.gg(l);z 28041e [ 000083 | 13015e | 000068 | %0242
0.00226 | 1.2237¢ : niee | 959 | 8.7070¢
= (N=120 Al aan o 1) Lo B2 ghia sk %20 dpss T=150 4dalt aaa 5
' 8.92=1) | @=-5¢2=4) |  @¢=5p:=4) |  ¢:=8,-=.
Wk - P1=—.0,p2=. i ’ - P(Wk) [P(Wk)]2 P(Wk) [P(Wk)]2
Pw) | [PwW)]? | PWQ | [P(w)]
7 6862¢7 | 0.01704 | 000054 [ 0.02027 [ 000077
Wi | 0.00041 | 226457 | 0.00084 2'73832'8 000193 | 712300° | 000208 | 178 16e*
W10 9.7540e® 1.73726_8 0.000}; 2.5753e'8 0.00066 8.2993e”7 0.00103 2_0535e_7
W20 | 8.8615e” 1.5346e_8 0.000 2orde 000047 460146 0.00058 6.53 159_7
Wso [ 0.00012 | 2.9804¢" [ 0.00011 | 2.5795¢ 395367 | 0.00045 | 39380e
-8 0.00015 4.7619¢ 0.00044 7
Wao | 0.00021 91471 ) 0. 39321e7 | 0.0005 | 585527 | 0.00041 | 3.4008e”
Wso | 0.00065 | 7.6543e | 0.00045 | 3.932le | 0. 2.6067¢° | 0.00103 | 2.3863¢
© | 000191 | 7.1959% 0.00113 :
Weo | 0.00202 | 9.5205¢ :
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¢(19) dall 34 5 Luiaall g (Average of [ P(Wk) ) s amaads P(Wk) ad Jau 5ia Lal.6

(20) dsall (58 g sciaali sw ( Average of [ P(Wk) ]%) a geands] P(Wk) ]2 o Jasia g

W asd amaady [ P(Wk) ]2 o £ sana ol B33 (s dniiali(SSE) Uadl) e 3o £ gara da g
83l dalliia ¢ <8 ((8-4) A (8-1) dshaad) (=8 Al 5 (18) ddumall (3-89 A Al

- -
-

s s Laade cliall (ma Gpmanal) Sty A gall (0 Aa Bl B e g Ll A
.Gam(0.5,1) s Exp(0.5) sN(0,2) a5 5l gty Undl) st (yn sidall

055 P (W) e Jaa sia ¢ildc U(0,1) gmiish g L) aad (5l g 360 @9 Laddie Lal7

G8S Gea (AN=80

QS Ladie Ao gall (o, dad Bl 3 ) Fia g Adlad] (p, Aad By o 4y gloia

8aby Al ¢y 955 SSE [ P(WK) ]? pud dsa sia () 5.N=120 195 Lo (p, A 53y 30 5 i

- -

Bl B i (158 G (e N80 055 Laie A sall p, A 53 4yl Fa g ) (p, Ao

.
-

N=120 ¢ Lasie (p, Aad

Oanda g9 byl S | omb Aoy sall badad SSE 5 [P(WK)]P 9 P(WiK) b B gia (s (8-1) Jgaa
ol Cital) raaaag N(O, 2) (bl g sill aoy slbadl) aa (9% Laie [ 2.1 /N, 77 ] 5580

(The pgoposedvalue @1=—8,p2=.1)| p1=-5,02=.4) | ¢1=.5,02=.4) | ¢1=.8,92=.1)
N=80 |

- 0.01075 0.00899 0.01738 0.02130
Average of P(wi) 0.00072 0.00051 0.00223 0.00315
Average of [Pw)]? 0.02892 0.02059 0.08916 0.12601
SSE
The proposed value ¢1=—-8,02=.1)| p1=-5,02=4) | ¢1=.5,02=.4) | ¢1=.8,02=.1)
(N=120) |

2 0.00708 0.00608 0.01206 0.01452
Average of P(wi) 0.00030 0.00022 0.00105 0.00152
Average of [Pw)]? 0.01809 0.01344 0.06302 0.09135
SSE

3l Crada gy ed il ) S Lomb 4yl Jabadad SSE 5 [P(WK)]? 9 P(Wk) s dacs s S (8-2) dsia
(o sl (i) anang U(0,1) aliTial) g sill s sUadl) aa 058 Leais [ 271 /N, 7]

;I'he p;oposed value ¢1=—8,p2=.1)| @1=-5,02=.4)| ¢1=.5,02=.4)| ¢1=.8,02=.1)
N=80 ‘ |

- 0.00072 0.00072 0.00386 0.00492
Average of P(wi) 2.9691¢° 2.6598¢° 0.00011 0.00019
Average of [Pw)]? 0.00012 0.00011 0.00430 0.00746
SSE
The proposed value ¢1=—-8,02=.1)| p1=-5,02=.4) | ¢1=.5,02=.4) | ¢1=.8,02=.1)
(N=120) |

3 0.00047 0.00049 0.00279 0.00331
Average of P(wi) 1.2385¢° 1.3323¢" 6.4671¢" 8.3024¢
Average of [P(wi)]? 7.4321¢® 7.9938¢™ 0.00388 0.00504
SSE

Oama 550 i )1 <3t Lomb 4oy sall adadad SSE 5 [P(Wi)]% 5 P (W) pd b gia (i (8-3) Jsaa
oAl Gital) eaag g Gam(0.5,1) WlS ajst a sUadl) aa 5% Larie [ 277 /N, 7r ] 3 540
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269
z-l\Te8r(J);0pOSEd value ¢1=—8,02=.1)| ¢p1=-5,02=4) | ¢1=.5,02=.4) | ¢1=.8,02=.1)
. 0.00052 0.00046 0.00133 0.00171
Average of P(wi) 1.6430¢® 1.1696¢ 1.3164¢° 2132367
Average of [P(wi)]? 6.5721e” 4.6784¢” 0.00053 0.00085
SSE
The proposed value ¢1=-8,02=.1)| ¢p1=-5,02=.4) | ¢1=.5,02=.4) | ¢1=.8,02=.1)
(N=120) |
. 0.00035 0.00032 0.00096 0.00116
Average of P(wi) 7.1755¢7 6.3756¢” 7.38156° 9.7749¢"
Average of [P (wi)]? 4.3053¢” 3.8254¢” 0.00044 0.00059
SSE
38l Crada b < S | omb Al abiad SSE g [P(WK)]? 9 P(Wk) af dawgia Cp (8-4) dgsa
oAl Gilal) eaang EXP(0.5) ¥ gojsill gl sladd) aa g5 Laais [2 71 /N, 7]
;rhe8%;0p059d value ¢1=—-8,02=.1)| ¢1=-5,02=.4)| ¢1=.5,02=.4) | ¢1=.8,02=.1)
N= ‘
. 0.00057 0.00053 0.00229 0.00290
Average of P(wi) 1.8181¢° 1.5824¢° 3.8049¢° 6.3946¢°
Average of [P(wi)]? 7.2726€” 6.3295¢” 0.00152 0.00256
SSE
The proposed value ¢1=—8,02=1) @1=—5,02=.4)| ¢1=.5,02=.4) | ¢1=.5,p2=.4)
(N=120)
. 0.00039 0.00037 0.00016 0.00020
Average of P(wi) 9.1301¢” 7.8865¢” 2.1082¢° 3.0750¢°
Average of [P(wi)]? 5.4781e® 4.7319¢® 0.00126 0.00185
SSE

4 adadie i pada o AR(2) Zisal Uil ant L sdal) 4diaial) Al 80 4 jal g

rad Gunn Al Clalay ¥ g LalS g bl a5 gl gt o j 68 B0 (il ) &3 438 <] omb
o Aaall g (g LalS g aadal) a5 gll) Undd) aad) Al jidal) il i) JSI (g gluadia (i 5 Jau gia
Cma JgY e 5l gi @L’m‘ :\JJ.A Adg¢ | omb Lwﬁ\ Jadadal o jlanl) &l m pd Aﬁ(3)djd¥\
ad o falaie) gN=80 Aall anadg ¢(9-2) 1 (9-1) sl st A §(8-4) 5 (7-4) sl sl

e e Jgmandl a5 138 [P(Win)) ]2 5P (Wini) asd ssist s [ P(wi) 1% P (W)
o O LaS g L) aad s jidal) cilay 5 gl cplsil] g Jas g} CIDEA Adla 0 3 ankl Lal Aliaa
W _S3 adiiall (] ghaad
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by Amaiaall g [ P(Wk) ]2 aef dasia 5(19) dimall (58 Anuciaall y P(Wk) s Jos s Ll
et £ gmana St A (s Ludinall (SSE) Ldadd) ciloay ja £ g—aa d—ad 5¢(20) Adamall
(7-4) 0t saad) e Jg¥) ¢ 3l (8 Lgaal) 5 (18) Leall (35 A jiiuuall g W af asaads[ P(WK) ]2
LaieSSE 5 [P(WK)]? SP(Wk) aad dasu sia Ol Lga Badi8c(9-2) 5 (9-1) Ol snadls (8-4) 5
2 (19 Laie al) (o A58 8) NI(.5,. 25 ) sl ol Ual) st (s el 580 58
494 Bl o)y Ja) g8 LS, Gam(1,0.5) 5 EXP(0.5) csma sl gty Usil) aad (s i
Ladl) aad A jidal) cilag 56l bl 5 das giall (g gbeatt Ala e SIS
3 P(WK) 8 ey Ol laEid) (S (9-2) Al g (7-1) Jghaadl (8 A gaal) gl ) il g
ey Apta Al g3 el g ) (g gl (e JE & g 0 58 ) ST Jida [P(WK)]P
Sl Aga Al g pila (ke JS& S dasall @, pf prandy el Al an G (B Ll pod

(5-5(4-a,b,c,d) Astiud) St B Ul Juves Ao ¢ 3 gaal Ao b ) puaay anl] Ll gaiuds 3
aaladl & (6-a,b,c,d)s a,b,c,d)

Aidal) G A1 o gial) and (ha il () 95 ( [P(WK)]?) Aishall 480 4000 ¢l 4B 4l
b gial) Aad (g 58I [P(WK)]? bl Aa (395 a8 cLomb 4 gall Jabadia aladiials (P(WK))
Gl (A gl canald) SIS g SISl 4 gal) Jadada alaliuls (( P(WK))

38 Craia iy 9d il ) St Adaa aud aie | omb Al il [P(WK) ] SP(WK) a8 G (9-1) Jsaa
. (N=80 i) paa o)f (g1) Lgda 24880 2 %20 Ay T=100 4bsnd) paa (98 Laxie [271/N, ]

N(0.5,0.25) (awbhlt ajsill gy sladli da 6 Lasis

C@1=—8,02=.1) | @1=-5,02=.4) - P1=.5,02=.4) C@1=.8,¢p2=.1)
Wk N N 2 N N 2 N N 2 N N 2
P (wx) [P(wk)] P (wx) [P(wK)] P(wx) [P(wk)] P (wx) [P(wk)]

W1 0.00059 6.7581¢”’ 0.00109 2.0417¢” 0.02023 0.00087 0.02273 0.00104
Wi | 0.00033 2.0990¢”’ 0.00044 3.7666e” 0.00179 7.0682¢e° 0.00251 1.2169¢”
W20 | 0.00041 3.4107¢” 0.00035 2.4654e” 0.00079 1.2569¢° 0.00108 2.3814¢e®
Wso | 0.00122 2.9445¢° 0.00081 1.2849¢° 0.00084 1.4276e° 0.00076 1.1819¢®
Wao | 0.00533 7.2064e° 0.00508 6.6802¢° 0.00226 1.3386e° 0.00250 1.5264¢7

Gam (1,0.5) el 2 g8 ity sladl) aa ) 9% Larie

C@1=—-28,02=.1) | ©@©1=-5,02=.4) - @1=.5,p2=.4) - @1=.8,02=.1)
We | P | [PW9F | Pw9 | [PWoF | Pwg | [P | Pwg | [Pwo
W1 0.00046 3.0287¢” 0.00093 1.2956€° 0.01967 0.00074 0.02221 0.00096
Wio | 0.00014 4.0275¢® 0.00020 8.2699¢® 0.00151 4.4172¢°° 0.00242 1.1124e7
W20 | 0.00018 6.1519¢® 0.00015 4.1013¢® 0.00071 1.0182¢° 0.00093 1.7004¢®
Wso | 0.00046 4.2725¢”" 0.00036 2.5222¢” 0.00083 1.3015¢® 0.00068 8.5065¢”
Wao | 0.00221 1.3894e° 0.00220 1.1420e° 0.00195 8.7576e° 0.00200 1.1285¢7
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Crada g gb o ) Sl SIS Ay gal) Jabadal SSE [P (WK)]? 9 P(Wi) md dsa gia ¢ (9-2) dgaa
(N=80 4l ana ¢f g} ) g Sag8la a8 %20 4y g T=100 Adadl paa 9% Laxiee[ 2.7 /N, 7r |68

N(0.5,0.25) (mhll gjsill gy sthadll 2 5% Lasic
The proposed value  |@1=—38,92=.1) [p1=-5,02=.4)| ¢1=.5,02=.4)| ¢1=.8,02=.1)
. 0.00135 0.00120 0.00254 0.00314
Average of P(wi) 1.0432¢° 8.5460¢° 452466 6.8343¢"
Average of [P(wi)]? 0.00042 0.00034 0.00181 0.00273
SSE
Gam (1,0.5) LalS a5 ails sthdlt aa 68 Ladie
lp1=-.8,02=.1 1==5,02=.4)| ¢1=.5,02=.4)| ¢1=.8,p2=.1
The proposed value ¢ ¢ )|@ ¢ )| e ¢ )| e ¢ )
. 0.00057 0.00054 0.00229 0.00283
Average of P(wi) 1.8968¢° 1.4640¢° 3.8099¢° 5.7624¢”°
Average of [P(wi)]? 7.5873¢” 5.8561e” 0.00152 0.00230
SSE

il i &/ .5

Al ladada aladiialy aad) 1A il JSA (e Lgall Jua gl a3 claliliad) and of

Lo jida cilagy il g ¢ jilaca) AR(2) zdsay 3a58dal) a8l Qs 8 | omb Z\wm.hhs“gsﬁmms
o o yhall Canall Sty ccilag gl G (Ll § o giall dad (g g gl CESEAT Aa 8 Uadl) aad
NS Gl

GBI oy 40 5SS 4 ) gl Jadadia afadiiad) o Juada 35S Lomb 4eygall Jalada aladiiad ¢
Ol 5 a8 gill oy giall) Badimall jubaall dad (18) o Aiudal) 48U A0 (il g o glll jalial 4ad
Aasiioall 8 ) ¢ 4 el A (SSE g Adudal) 48U A

Al L 1y %0 cpaa B LSS 4 gal) Jadadia aladiial Adad) ana Bal 3 B Fia SSE ad (g0
.Lomb 4 sl Jadada aladiialy Al ana Sl 5 dualliia

ity Bagl e ¢ <3 N=80 4indl ana Ala by il jadall bl o Uadd) o ¢l dad 50 Ll
S G A LalS g e Ll aa (9% Lare dd o gilal) Aad iy Uadl) aad ol Al
dad iy (sa a8 o cormadal) a5 il aoii Undd) aa () 5% Laaie L) aad ¢l e Sk ju 5l S
Lomb  (Sawdlsl 4y gall Jakadia aladialy shiall g gluce Ja gial)

([P(WK)]?) colatill pu g ( P(Wk) ) o siall psd ol 31« cplly plally ddalal) B Al o ghaw 4o

J<y [P(WK)]* SP(Wi) asks 45 e 81 ¢ 55 Ao gall , s U g 5 jadial) ddulal) d8UCY Adjal
35 Cpa B Al pad S g Alladl 5 g8 il ) S A anl) G 0 35 G ALl aad

] Al ¢ (a8 1) Ao A gall , o JS1 g Audadidiall 5 g8 il 1SS aie [P(WK)]® 5 P(Wik) oo
SISl 4 gal) Jakadia aladily Ada sl (5 6S3 L omb Aoy gall Jakadia afadiialy
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